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POLITICAL SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which part of the Mahabharata deals with the theory of Government ?

(A) Adi Parva (B) Sabha Parva
(C) Yuddha Parva (D) Shanti Parva
2.  Aristotle is called the ‘father of Political Science” because of his idea of :
(A) revolution (B) slavery
(C) classification (D) citizenship

3.  Who propounded the principle that the political ruler should be amoral ?
(A) Machiavelli (B) Hobbes
(C) Locke (D) Rousseau

4.  The theory of “political obligation” was propounded by :

(A) JsMil (B) Hegel
(C) Marx (D) T.H. Green
5.  The concept of "hegemony’ is associated with :
(A) Lenin (B) Mao
(C) Gramsci (D) Marx
6.  For propounding their theories the “social contract theory” was used by :
(i) Marx (i) Rawls
(iii) Lenin (iv) Nozick
(A) (i) and (ii) are correct
(B) (ii) and (iv) are correct
(C) (i) and (iii) are correct
(D) (iii) and (iv) are correct
7.  Given below are two statements, one labelled as Assertion (A) and the other as
Reason (R) :

Assertion (A) : People and the state are of the same status.

Reason (R) : People create the state.

In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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8.  Identify the correct order in which the political thinkers propounded their respective
theories :

(A) Machiavelli, Hobbes, Rousseau, Mill

(B) Machiavelli, Rousseau, Hobbes, Mill
(C) Hobbes, Machiavelli, Rousseau, Mill
(D) Hobbes, Rousseau, Mill, Machiavelli
9.  Match the List-I with the List-II and select the correct answer from the codes given
below :
List-1 List-11
(a) Radical Humanism (i) Nozick
(b) Death of political theory (i) Laslett
(c) Decline of political theory (iii) M. N. Roy
(d) Entitlement theory (iv) Easton
Code
(@ () (o (@)
(A) @) @) (@v) @)
(B) @) () @@ @)
© @) @@ @v) ()
(D) @) @) @ G

10. Match the List-I with the List-II :

List-1 List-1I
(a) Annihilation of Caste (i) Gandhi
(b) The Cunning Reason (i) Aurobindo
(c) The Human Cycle (iii) Ambedkar
(d) Hind Swaraj (iv) Hegel
Select the correct answer from the code given below :
Code :

(@ (b) ( (@
(A) @) @v) @@ @
B) @ @) > (v)
© @@ @ (@v) (i)
(D) (v) @) @) @
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11.

12.

13.

14.

15.

According to David Easton, which of the following are the regulatory mechanisms in a
political system ?

(i)  Socio-cultural norms

(i) Communication channels
(iii) Extractive capabilities
(iv) Distributive capabilities

Select the correct answer from the code given below.

Code :

(A) (i) (i) and (@iv)
(B) (1) and (i)

(C) (i) and (@v)

(D) (i) (i) and (iv)

Who among the following has categorised political systems into political democracy,
tutelary democracy, modernizing oligarchy totalitarian oligarchy and traditional
oligarchy ?

(A) Edward Shils (B) Lucian Pye
(C) A.F.XK. Organski (D) David Apter

The residuary powers rest with the states in the federal system of :

(i USA (i) India

(iii) Switzerland (iv) Canada

Code :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (iii) and (iv) are correct

(D) (i) and (iii) are correct

Which one of the following has a close affinity to the rule of law ?
(A) Written Constitution (B) Judicial Supremacy
(C) Separation of Powers (D) Limited Government

Which one of the following political parties is described as a pioneer of the socialist
parties in the world ?

(A) Indian National Congress
(B) Democratic Party of USA
(C) British Labour Party
(D)

Christian Democratic Party of France
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16.

17.

18.

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Elite theory is based on the idea that every society consists of two
broad categories.

(i) the selected few and the vast masses of people.
Reason (R) : The elite theory first started as a critique of democracy and Socialism.
Select the correct answer from the codes given below.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R).

Assertion (A) : A political system receives a more or less continuous support from
society if the process of political socialization is homogeneous.

Reason (R) : The individuals cooperate with each other and there is an atmosphere
of trust in the political culture.

Select the correct answer from the codes given below.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Match List-I with List-II and select the correct answer from the codes given below.
List-1 List-11

(a) Almond (i)  Authoritative allocation of values for a society

(b) Easton (i) Capabilities of a political system

(c) Lucian Pye (iii) Institutions decay dissolution as well as growth

(d) Huntington (iv) Equality, capacity and differentiation

Code :
(@ (b)) () (@

A @ O @) ()

® O @) @) @)

© () O @) @)

D) G @ @) G
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19. Match List-I with List-II and select the correct answer from the code given below.

List-1 List-1I
(a) France (i)  Judicial Review
(b) U.K. (i) Procedure Established by Law
(c) USA (iii) Two Sets of Courts
(d) India (iv) Sovereign Parliament
Code :

(@ ((b) () (@
(A) @) @Gv) @ (@)
(B) @) (@) @ )
© O @ 3§) @)
(D) @v) (@) @ (i)

20. Put the following concepts in sequence in which they were used by Karl Deutsch in his

conceptual frame work. Use the code given below :

(i) Lead

(i) Load

(iii) Lag

(iv) Gain

Code :

(A) @ @) (@) @
B) @ Gv) (@) (i)
© @@ @ @) (@v)
(D) @ @) () (v)

21. Who is the author of “Igniting Minds” ?
(A) J. N. Dixit
(B) Joginder Singh
(C) Bipin Chandra
(D) A.PJ. Abdul Kalam

22. 93rd Amendment of the constitution deals with :
(A) Panchayati Raj Institutions
(B) Reservation of Women in Legislatures
(C) Reservation of OBCs in Educational Institutions
(D) Fundamental Duties

23.  Who was the first Dalit President of India ?
(A) Giani Zail Singh
(B) A.PJ. Abdul Kalam
(C) K.R. Narayanan
(D) Fakhruddin Ali Ahmed

J—0208 10
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24.

25.

26.

27.

28.

Which of the following regional political parties did not join the UNPA at the time of its
formation ?

(A) AIADMK (B)
(C) Telugu Desam (D)

Shiromani Akali Dal
Samajwadi Party

Which of the following Prime Ministers was not member of the Lok Sabha ?
(A) Pt Jawaharlal Nehru (B) Lal Bahadur Shastri
(C) P. V. Narsimha Rao (D) H. D. Deve Gowda

Given below are two statements one labelled as Assertion (A) and the other labelled as
Reason (R) :

Assertion (A) : Public Interest Litigation is the strategic arm of the legal aid movement.
Reason (R) : Public Interest Litigation is meant to bring justice to the doorstep of
the weak.

In the context of these two statements, which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Given below are two statements, one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : The purpose of fundamental rights is to create an egalitarian society.
Reason (R) : There is an inherent tendency among the individuals to dominate
others.

Select the correct answer from below :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

What is the correct chronological sequence of the below. Choose the write answer
from the codes.

(i)  Subhash as President of the Indian National Congress
(i) Formation of Congress Socialist Party

(i) Formation of Satyagraha Sabha by Gandhi

(iv) Communal Award

Code :

(A) (v) (@) (D) ()
(B) (i) (iv) (D) (i)
Q) (@) @) @Gv) (@)
(D) @) @) @) (@)

J—0208 12
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29.

30.

31.

32.

33.

34.

Arrange the following in the order in which these appeared.
below :

Use the codes given

(i) Knowledge Commission
(i) Sarkaria Commission
(iii) States Reorganization Commission

(iv) National Commission to Review the Constitution

Code :

(A) Gv) Gi) G G
(B) (i) () (@Gv) (@)
Q) @) @) @G (@)
(D) @) (@v) (D) (i)

In context of Articles of the Constitution given below match List-I with List-II and
select the correct answer from the codes given below :

List-1 List-11

(a) Article 148 (i)  Election Commission of India
(b)  Article 280 (i) Comptroller and Auditor General of India
(c) Article 315 (iii) Finance Commission
(d) Article 324 (iv) Union Public Service Commission
Code :
(@ B () @
(A) @@ @) (@) @
B) @ @) (@v) (i)
(© @@ Gv) @ (i)
(D) (@) @v) G @

Which one of the following is not considered an element of National Power ?
(A) Leadership (B)
(C) National Resources (D)

National Character
Party System

Which one of the following countries has been recently made member of the SAARC ?
(A) Bhutan (B) Maldives
(C) Afghanistan (D) Nepal

Which one of the following is not a part of the European Union ?
(A) European Commission (B) European Territorial Commission

(C) European Parliament (D) European Central Bank

The author of “American Foreign Policy; Three Essays” :
(A) Karl W Deutsch (B) S. Hoffe man
(C) Henry Kissinger (D) Woodrow Wilson
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29. < S ITE HIS H FAN Hd g FEATARET 1 TE A Fasy
() 9 mEm
(i) HIRIRAT M
(ili) T TS ST
(iv) Hfaer % Hened & foe Ui s

%< :
(A) (v) (D) @) (i)
(B) (i) (i) (v) (i)
© @@ @) @ ()
(D) @) (@v) (i) (i)
30. = fou Hfaum & eig=sal & <y 4 gei-1 w1 g=i-11 9 e & @ik 9= fQu Fe Hadl 9§
T ST A =TI HY
gai-1 gei-11
(a) TI=T 148 () WG 1 Hat=r S
(b) 3TT=1 280 (i) YRA 1 1w TE TR s
(c) 3TT=s% 315 (iii) o s
(d) 3= 324 (iv) W TR G AR
Fe:

(@ ® (o @)

(A) (@) (@) (@Gv) (@)

B @ @@ (@v) (i)

© @@ (@) @ @b

(D) (D) (@v) (@) (@)
31. fr=Afafea & w0 @ UL wfed &1 9 TRl qHE S ?

(A) g (B) U = (C) U GHreH (D) T gomedt
32. fr=fafed § @ &M @1 <9 g § & |ieh 1 He=T ST T 2

(A) M (B) WIS (C) AR (D) 9T
33. TTH § M JUMNEA e o few T8 B2

(A)  JUFTEA AR (B) JUf Uefireh T

(C) A Hue (D) JAMEA A=d 5
34. ‘AR RA Uifedl : off TEY' o oE | -

(A) T S, S (B) TH. THEA

(C) T fpfEm (D) TN faawA
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35. “Promotion of International Peace and Security” has been enshrined in the constitution

of :
(A) People’s Republic of China (B) France
(C) India (D) US.A.

36. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Choose the correct answer from the given codes.

Assertion (A) : After the collapse of the Soviet Union, USA has emerged as the only
super power.

Reason (R) : Globalization as a trend of International Economic System has come
to stay.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

37. Given below are two statements one is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : In the changed world scenario, non-alignment in its traditional form
is not relevant.

Reason (R) : India can be considered as an upcoming economic power.
In the context of these two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

38.  Match List-I with List-II and choose the correct answer from the code given below :

List-1 List-11

(a) NAM Summit at Havana (i) 1998

(b) Agra Summit (i) 1999

(c) Kargil Conflict (iii) 2001

(d) Nuclear Tests (iv) 2006

Code :
(@ ® (© @

@A) (v @) @) 0

® O G ) (i)

© (v @) @) 0

D) @) (v) ) O
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35. ‘sicqRisgra wnf=a SR qeen &1 G’ fa & dfaum # ufassifua fan won 72
(A) T S oA (B) I
(C) wRd (D) 7l

36. I Q1 FeA fqu T €, U Pk (A) FT 3R T H H/IOT (R) T A fezm 7o
e Gehdl H W FE I AT TG
JMIHT (A) :  HfTFd IfTF 6 T o 918 Y TH.T, THAS HERIK F €9 H W B |
T (R) : I-THEclah, HRE onfeles =aen & ygfa & &9 § feer T
(A) (A) 3R (R) I ¥ § 31 (R), (A) T & AR T
(B) (A) 3R (R) IF § ¥ W (R), (A) I T& =& T B |
Q) (A) 99 T T (R) 3T9A T |
(D) (A) 38 8 W (R) T T
37. S weA fou T €, T o ifieRe (A) T TR TE T SRIOT (R) i A T e ¥
AR (A) :  Tova i aeelt g8 feafa #, e fRuemar o1 armfis w9 # yrEfis = g1
I (R) : YR 1 ST 3MTieh wIfer T < Hehell € |
3 31 el & g ), frefafiaa § 9 w9 @ wee W@ €2
(A) (A) 3R (R) I ¥ T 3R (R), (A) T T =AM T
(B) (A) 3R (R) T ¥ § T (R), (A) Tl T =& 7 T |
Q) (A) ¥9 T T (R) 319 T
(D) (A) A § W (R) TA ¥

38. ol -1 AR T - 11 F1 iy oIk F= fu 11 sile § &l S &1 =47 i

et - 1 e - 11
(a) TAMIH NAM Forer wied i) 1998
(b) SR e geeH (i) 1999
(c) wRATE Hod (iii) 2001
(d) AT T (iv) 2006
F

(@ B (© @
(A) (v) () (D) (D)
®) @ (@) @v) (i)
Q) (v) () @) ()
(D) @) @Gv) @) ()
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39. Match List-I with List-II and select the correct answer from the code given below :

(a)
(b)
(©)
(d)

Code :

=

)
)
)

@

(
(
(
(

List-1 List-11
India-US Nuclear Cooperation Agreement (i) 1999
Terrorist Attack on Indian Parliament (i) 2007
Vajpayee’s Bus Diplomacy (iii) 2001
Establishment of SAARC (iv) 1985
(@ ® (o @

@ @i @G (@v)

(v) (@) @) (i)

(i) @{dv) (@) ()

0 (v) @) (i)

40. Identify the correct chronological sequence of the following events :

(A)

Formation of the league of Nations, World War I, Birth of Bangladesh,
Disintegration of U.S.S.R.

World War I, Birth of Bangladesh, Disintegration of U.S.S.R., Formation of the
League of Nations

World War I, Formation of the League of Nations, Birth of Bangladesh,
Disintegration of U.S.S.R.

Disintegration of U.S.S.R, World War I, Formation of the League of Nations, Birth
of Bangladesh

41. The emergence of “New Public Administration” was initially associated with :

(A)
(B)
(©
(D)

American Society of Public Administration
Comparative Administration Group
Minnowbrook Conference

Indian Institute of Public Administration

42.  Which one of the following is NOT a function of the District Collector ?

(A)
(B)
(©
(D)

Realisation of taquavi loans
Maintenance of land records
Hearing of appeals against the decisions of Nyaya Panchayats

Collection of revenue

43. The states that first implemented the Panchayati Raj in 1959 were :

(A)

Rajasthan and Andhra Pradesh
Rajasthan and Karnataka
Andhra Pradesh and Gujarat
Tamil Nadu and Rajasthan

18



39.

40.

41.

42.

43.

e - 1 3R gt - 11 1 faast 8k 99 fou 7T Fie & 92 SW &1 999 i

g - 1 e - 11
(a) YRG-STHRERT WA T8N §H (1)) 1999
(b) YR 989G W ARGl gAel (i) 2007
(c) dSIUE &t o9 e HIfd (i) 2001
(d) SAARC hl TG (iv) 1985
F

(@ @B (© @
(A) G @) @ o (0v)
(B) (v) (i) () (i)
(© @) @Gv) @) ()
D) @ (@v) (@) (i)

Frefefed sl s Hel hiedshiieh A Jam

(A) T G o A, fove gg-1, STeresl sl S, 9,09, 0. 3R 61 forsres
(B) Tavd gg-1, ATeTew I S, I, TH.TH.3TR. 1 foered, e w9 o1 i
(C) Tawd gg-1, Uz G < 0, STTeAe 1 ST+, 9, TH.TH.3AR. & foere
(D) ¥.TE.TH.3R. & foaered, fova G-I, T 99 o1 FEiv, sierest & S

9 HreSIe ek R’ 1 ITTHE Ieel-Ued fohd | HreIfgd o ?

T 9 HH @ fSende o e T6 82

) eRTel RO Rl el

B) 4ff stfireta w1 srqRem

= =l < o o foreeg oTdier shi gems
ST hi et

o T A 1959 H Wewe™ v=med TSt o fohart-aa fopan ?
A) TSN AR 7Y U=
B) TSR 3R FHlesh
C) T Ue¥ 3R ToNa
D) dHa g SR Tereem™

>

J—0208 19 P.T.O.



44.

45.

46.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Public Administration is more comprehensive than private
administration.

Reason (R) :
In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

Public Administration regulates private administration.

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Promotion should be made on the basis of performance evaluation.

Reason (R) : There is a need to recognise the potentialities and qualities of efficient

civil servants.
In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Match List-I with List-II and select the correct answer using the codes given below :

List-1 List-11
(a) Estimates Committee (i) Examination of
Appropriated Accounts
(b) Public Accounts Committee (i) Suggestion of Economy in
Expenditure
() Committee on Subordinate Legislation (iii) Examination of rules made by
the executive departments
under Acts passed by the
Legislature
(d) Committee on Public Undertakings (iv) Review of working of Public
Sector Undertakings
Code :
(@ () (o (@)
(A) @ @) 3D @)
B) @) @ 3§D ()
(© @) @Gv) @ @)
(D) Gv) @ () ()
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44. = < woF U TC ¥, U I UEHAT (A) F R TE HI HROT (R) AW fean e
AT (A) : ik TeEH Fsf g 6t gar H s forga €
T (R) : Tk gemE STt gemee o e s 7
SR < weAl & gl §, Frefafaa # @ & a1 we e 2
(A) (A) 3R (R) I ¥ T 3R (R), (A) T T =AM T
(B) (A) 3R (R) T ¥ T T (R), (A) Tl T =& 7 T |
Q) (A) ¥9 T T (R) 319 T
(D) (A) A § W (R) TA ¥

45. = < woF U e, U Sl 3R (A) T 3R TE HI HIOT (R) H AW fea
AMURAT (A) : IS FToIIEH Hoish o STTER T HEAT =0T |
T (R) : ANy ik Hehi i arTareti 3 faRarsti sl Je=m- i Sed ¥ |
ST 31wl & g H, fFrefafed § @ w8 O weF 9@ 2
(A) (A) 3R (R) I ¥ § 3R (R), (A) T & AR T
(B) (A) 3R (R) I § ¥ W (R), (A) I T& =& & B |
Q) (A) ¥9 T T (R) 319 T
(D) (A) 9 € W (R) T €|

46. T - 1H GET - 119 FHam o oIk 19 U e dondl o § 6t ST 1 =97 |

et - 1 et - 11
(a) URReH |Hfd () fafmfsa e =t odan
(b) ek oi@n wihfd (i) =g H formrd & fod gama
(c) iy faumA wfHfd (iii) Torem Hee gR UIRA SFA & STaid SR
fawmii gra s fami o6t adian
(d) eSS Ukl ¥ Geifud @fafa (iv) eI &5 % SUhHl % hId-hHIul i
e
g
(@ B (©© @
(A) @ @) @) (Gv)
(B) G) (@@ @) ()
(© @) (@Gv) @) (i)
(D) @v) @) @) (i)
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47. Consider the following ‘Hierarchy of needs’
(i)  Safety needs

(i) Esteem needs

(iii) Social needs

(iv) Self-actualization needs
(v)  Physiological needs

According to Maslow, the correct sequence of the above is :

(A) @) (@Gv) () () @

B v O @) @@ @)
© v Gv) @ @@ ()
(D) @) @@ @ () @)

48. Which one of the following types of training seeks to prepare future recruits for the
public service ?

(A) formal training (B) Pre-entry training

(C) Informal training (D) Post-entry training

49. Which one of the following tests was advocated by Macaulay ?

(A) Written Examination

(B) Evaluation of education and experience
(C) Demonstration of performance
(D) None of the above

50. Below are given some functions :
(i) To review the working of the National Plan from time to time
(i) To consider important questions of social and economic policy

(iii) To recommend measures for the achievement of the aims and targets set out in
the National Plan

These above functions are performed by the :

(A) Planning Commission

(B) Council of Ministers
(C) National Development Council
(D) Finance Commission

-00o0-
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47.

48.

49.

50.

frefafad * sevashdretl’ & e shd’ W 1R &Y
() &I i STETIRAY
ii) SIS il MEIHRATL

freafafed yoer & e § 9 o6F 91 59 Ha1 § 9iet 99 9dl & fod safaddl o Gar s
T

(A)  rq=nfies gferemor (B) cii-gd ot wfvreror

(C) T Hrer (D) -t gfvreror

Tehret A FrAfafaa wieo § § g o1 e fean?
(A) fafea odan

(B) Toam iR s1gva 1 Heaicha

(C) e =1 yesiA

(D) SR H F HiE &

() HHI-EEI W A A 6 AT HlTHET HEAT

(i) TSR IR s fifd & FEegul el W fa=R we

(i) T e H i Ieval iR @edl ot Wit o foaw Sumi st faweir s

ST Yehd T & g e fofd 9a €
(A) IS STRERT
(B) Hsil UREg
(©) T o aftg
(D) fa smm
-00o0-
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